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1. Let f(z) = 227 + x + 9. Find f/(16) = _1

. 53 9 1
2. Let f(z) = 22(2® + 3z — 1). Find f'(2) = 5;5% - 5:6% — 593_%
3 Lety — sinx ind o — 1
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4. Let F(x) = (2 + 2 + 1)'°. Find F'(z) = 100(2x + 1)(2? + 2 + 1)%

5. Let g(t) = tan(sin 2t). Find ¢/(t) = 2 cos 2t sec?(sin 2t)
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. Lety =

. Let f(x) = =

. Lety = sinx — 2cos x. Find ¢/ | ;==

. Lety = tan®(32% + 1). Find e

!
. Find the tangent line of f(x) = x sin — at the point <— —).
x

=222+ —4

2z

. Find 1/’

. Letg(z) = (mQ + 1) f(z) with f(2) = 3 and f'(2) = —1. Find ¢'(2).

. Let f(x) = 32° + 2* — 32 + 82 — 9. Find f'(1).

22+ 2z
—1

. Find f’(x)

. Let f(x) = 82" — 62° + 42 — x. Find f"(0).
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. Lety = (secz)(x + tanz). Find y/'.

dy
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Suppose that F'(z) = g(f(x)),and f(3) = 16, f'(3) = 6and ¢'(16) = é Find F"(3).
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2 | J@2)=T1 2.3 — |4 3
3 | f[(1)=18 2.2 — |4 5*
4 3
poon . —xt —4x® —2x — 2 ,, *
4 f(x) @ 1) 2.3 — )42 4
5 | f7(0) =24 9.3 — ¥ 41 28
3
6 | ¢ |o=z= %—l—l 24-¥ 81T
7 | 3 =secxtanz(x + tanz) + secx(1 + sec’ x) 2.4 — |45 2
d
8 e 18z tan”(3z” + 1) sec?(32% + 1) 2.5 — 4L 8
T
9 y==x 2.5 — % %7 22"
: 3 .
10| F(3)=5 2.5 — ¥ 4 31
* ¥
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